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Directions (6-10): Study the following Line Graph and answer the questions that follow: The Line

graph given below shows the number of articles (in thousands) manufactured and sold by five
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().6- Which company Sold maximum percent of Article?
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(a) A (b) B (c) C (d) D (e) E
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().7- What is the ratio of the number of article that remained unsold from C to the number

of article that remained unsold from D ?

cﬁqﬁﬁmﬁﬂaﬁaﬁaﬁmmnﬁqﬁaﬁaﬁmaﬁaﬁmﬁaﬁm

fpar a2
(a) 2:3 (b) 1:2 (¢) 3:2 (d) 4:3 (e) None of these
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Q.8- What is the average number of unsold Article by all the five companies together ?
mﬂtrﬁawﬁtﬁmqﬁamﬁmaﬁaﬁaﬁaﬁmm 87

(2) 16000 (b) 14400 (c) 12400 (d) 12800 (e) None of these
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Q.9- Unsold articles from company E is what percent more/less then the unsold articles from

company A ?
ST E 3 7 R ar Tl avqe, $U A 3 7 et avget & R i /e

%" (a) 25% more (b) 20% less (c¢) 33.33% more (d) 25 % less (e) None of these
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.10- Unsold articles from company B is what percent of the manufactured articles from
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(a) 12.5% (b) 10% (c¢) 16.66% (d) 6.25% (e) None of these
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Line chart given below shows markup percent more than CP and discount percent given on MRP of

seven different articles sold by a shopkeeper. Study the data carefully and answer the following
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Q.l:- Cost price of article D 1s Rs.320. If article D is sold at 20% profit rather than marking up and giving

discount, then find the difference befween the selling price obtained in bqth cases. (in Rs.)
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(A)120 (B)128 (C)90 (D)144 (E)165
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Q.Z:- If difference between selling price and cost price of article G is Rs.150, then find the selling price of
arficle G.

a5 G P faery Wea 3R AT You & §19 3T 3R 150 T &, 9 o] G F1 fIehy Yo gid Sifor|
(A)Rs.320 (B)Rs.400 (C)Rs.350 (D)Rs.250 (E)Rs.275
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().3:- If selling price of article B is same as selling price of article E, then cost price of article B is what percent more

than cost price of article E ?
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().4:- Total selling price of article A and article B tugether IS what ercent more than

? (Iti gﬁ!lven thaﬁ%ust P GI%%’CF% articles are - }3?@[‘13 ﬂﬁéﬂ' ﬁamm’éﬁ[

(A)48% (B)42% (C)41% (D)45% (E)47%
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